ERISIBEREEH

S I -1 S8 BB T 0 D B S e e
R L0 IR D 3 > T~

!M'
_ulilli

IR IE U LD IR NS
(Z2 T A R R D L)

3/15&3/21~2202[8], BT N —2BBPNCTRA L2 22813
R AR#I20nGy/hFRED LR = ANEANTBEZOLN )L

80

RGN —— BB TATRS  —— ATRSY

1

n /1

60 S
l' !

BT [nGy/h]
5

AIRRETHE — 3/21 ~DFHET IL—LDFEA EBRRIZ
AN AT RS EME OB (RIEILE)

L R R
3H1H 3E115f3ﬁ21El 3H31H 4H10H 4H20H 4H30H 5H10H 5H20H 5H30H

3/15DBEHETIL—LDFTAIZES
AL E 0L E (G %hE)




B D AOYREE 2L —Yar

3 A 158 900 16 B 9:00 3 A 218900 228 9:00

i | I P wymez | ] ] ] P oz
10 100 1000 10000 100000 10 100 1000 10000 100000
BEE—RETHRERBWMITHS C:137 DARTETRRDHART FrR23F9A6H

- {5 5% SPEEDI (WSPEED) #AH W= 2 ab—v 3 - (%) BRI+ H AR AR

EE5EEREE (hitp/www.imhlw.zo.jp/stfhoudow2r9852000001nif2 att/2r9852000001niva.pdf) ZMI,

8 B RS U B IR P~
(BRBEERH R OB LS o A0 % )

T3 seEdss . R mastne

920 79
80

70
60
¥50

=
Z40

(HHHHH AP : 30
AR ot | =
1L UL ! 10 34 x =] 2.2 0.88 0.7 0.38 0.21 0.15 0.16 0.090 0.12_

- - N = L I L3 &
31234123412341234/112341234123412341234123412 0

H22 H23 H24 H25 H26 H27 H28 H29 H30 Rl R2 R3
H22 H23 | H24 | H25 @ H26 | H27 | H28 H29 | H30 R1 R2 R3

 BPA RS VRRY G

2.1

1.14

T
n

Bq/kgE

0.049 0.0570,0210.0300.0180.018 o 0.0810.10 0.12 0,085 0:126 0.12 0.0790.068 |,

I3 0 88 e

H22 H23 H24 H25 H26 H27 H28 H29 H30 R1 R2

(BE] G ERITE R EMDOBSH 2T L5 #1100 Ba/ke



_— 920k 2 R A
L A i

ARIE =SV TR
‘?’ a?iﬁ%%ﬁ%ﬁ&

=

/ 20km

AMBNE=RYL TR, SFRQEEH

Er=—re— 12%?)?0)
il 7 1Y 7 ) 7 1 IR 1 BRARGE=S)L Z B O

W%{%&Olﬂ?%ﬁifﬁﬂ@%ﬁ




